Biometry 755
Homework 6, Assigned 3/26/09
Due 4/2/09 by 6pm
Name _______________________________________________

1. Use the IMPACT data to conduct a simple logistic regression of the log odds of remaining drug free for 12 months on age.  Then answer the following questions.
a. What is the estimate of the effect of age on the log odd of remaining drug free for 12 months?
b. Is age significantly associated with the log odds of remaining drug free for 12 months?  Justify your answer.

c. Interpret the default odds ratio for age reported in the SAS output.
d. Construct and interpret an odds ratio for remaining drug free for 12 months for a ten year age difference.
e. Based on the fitted model, what is the estimated probability that a 30 year-old remains drug free for 12 months?  Please show all work.

2. Construct a categorical variable for age with four levels based on the quartiles of the distribution of age.  You can find the quartiles of age using PROC MEANS as shown below.



proc means data = one q1 median q3;




var age;



run;
Then conduct a simple logistic regression of log odds of remaining drug free for 12 months on age as a four-level categorical variable.  Use the youngest age group as the reference category.  Then answer the following questions.

a. Is the four-level categorical version of age significantly associated with the log odds of remaining drug free for 12 months?  Justify your answer.
b. Interpret the default odds ratios.
c. Based on the fitted model, what is the estimated probability that someone in the oldest age group remains drug free for 12 months?  Please show all work.

